2020/8/23+-30

ASCAR FEKKFRBKXE
10 TR
B¥ 50mEAK
K& FE BBk NE sz
AR FEA INZ 4 3273 10
BF 50m/\3754
K4 FE Bk g3z
WE fLE INE 4 35.03 10
AR FEA INE 4 35.80 15
BF 100m/\3754
K4 FE Bk g sz
WE fLE INE 4 1:16.32 2
ZF 100mFEHKE
K& FE BBk NE sz
%k k¥ INZ 4 1:30.68 3
ZF 50m/\3754
K4 FE Bk g sz
Bk XF INE 4 36.43 13
1-12EX 5
BF¥ 100mBERAK
K& FE BBk NE sz
NG TIPS 1 1:03.85 9
BF 200mBE MR
K4 FE Bk g sz
NFAEZEPS T 2:15.01 3
BF 50mEkE
K& FE BBk NE sz
FARFK INZ 6 33.30 3
BF 100mE k¥
K4 FE Bk g sz
HFAR K INE 6 1:1217 6




BF 50m¥EHKF

K4 FE BBk NE sz
FiE BEA koo 38.92 14
BF 100mEH E

K4 S2E Bk g3z
£k & INE 6 1:13.32 B
R AEE 1 1:2053 7

BF 50m/\3754

K4 S2E Bk g3z
T FIE INE 6 31.70 8
A BEA koo 3285 18

BF 100m/\3754

K4 S2E Bk g sz

T AR INE 6 1:09.44 5
ZF 50mBERF

K4 FE BBk NE sz
L VNE ) INE 6 3152 40
FEH 5% B 33.21 69

ZF 100mBE Ml

K4 FE BBk NE sz

BEH Bx 1 1:11.71 49
TF 200mBE A

K4 S2E Bk g sz
¥ i B 2:20.10 4
%k 3T T 2:23.95 10
CELVNES INZ 6 2:26.40 17

ZF 50mExKE

K4 FE BBk NE sz

= H BAF 1 39.59 22
TF 100mE]E

K4 S2E Bk g sz

= H BAF R 1:24.34 15




ZTF 50m/NFI7514

K4 FE BBk NE sz
HhE5 FiHE B 31.25 5
ZF 100m/ 3754
K4 S2E Bk g3z
ATV INZ 6 1:16.66 13
ZF 200mfEAARL—
K4 FE BBk NE sz
%k 3T T 2:40.82 6
13- 14®E %
BF 100mEHF
K4 S2E Bk g sz
Rk & g 2 1:16.21 16
BF 200mEH#E
K4 FE BBk NE sz
Rk & 2 2:4403 10
£k & INZ 6 2:33.28 OPEN
BF 100m/\3254
K4 FE BBk NE sz
BIE & T 1:03.25 15
=H XY} R 1:03.55 16
BF 200m/\3254
K4 FE BBk NE sz
£H X3 koo 2:18.72 7
BIE & el 2:20.11 9
ZF 50mBERF
K4 FE BBk NE sz
WA =X 2 30.97 42
TF 200mBE A
K4 S2E Bk g sz
e BEK 2 2:16.52 6




ZF 200mfEANARL—

K4 FE BBk NE sz
e /N hE 3 2:31.61 5
TF 400mfEAARL—
K4 S2E Bk g3z
e /N 3 5:06.17 2
15- 16X 5
BF¥ 100mBERAK
K4 FE BBk NE sz
I 5% =R 1 1:00.21 32
BF 200mB MK
K4 S2E Bk g sz
I=F 5% =1 2:13.84 22
BF 50mEkE
K4 FE BBk NE sz
FaZE RERH =3 27.39 2
BF 100mE k¥
K4 S2E Bk g sz
EE =1 3 1:00.03 4
TF 100mE k&

K4 FE BBk NE sz
KiE @ =R 1 1:10.45 3
TF 200miEikE

K4 S2E Bk g sz
KiE B =1 2:30.43 4
TF 100m/ 8754

K4 FE BBk NE sz
BARHALAE =R 1 1:08.22 8
ZF 200m/ 3754
K4 S2E Bk g sz
BRBHLE =1 2:22.95 2




